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10000000  #i I E S 10000.0
11000000 = & I ES 9999.6
11100000 % # ¥ 228.9
11101000 % i #H sl o 848
11101010 7 T m| 7 mi A t 76.8
11101020 #H i t 5.7
11101030 it e & o t 23
11102000 o i E e i M 28.4
11102010 e & il N i LE3 i t 214
11102020 % OB MW OB ORBM OE T O M t 7.0
11103000 it 153 33
11103010 e B il Eif]| =3 t 33
11104000 b ihi =T xt i # 6.0
11104010 OB O OE OB W - & #& t 6.0
11105000 & i & h 106.4
11105010 i i i t 449
11105020 i i) h t 12.6
11105030 % EN i T o t 8.0
11105040 #t % i ) t 23.7
11105050 a] 5 &% % t 1.9
11105060 b = [ & A kg 15.3
11200000 Eld % & = I ¥ 512.6
11201000 3 % & B b 8 aH 28.7
11201010 7 L = = /) Ls #h & t 17.9
11201020 R =1 & bR t 10.8
11202000 Eld % & B E 3 Eo o 3445
11202010 & i) E:] i t 56.6
11202020 7 L = = 9 L W/ #H & t 82.8
11202030 7 )L T = 9 L 8B H # & t 205.1
11203000 =5, iR . T — J L 18.8
11203010 a — ¥ — @\ I+ 8 B EiHht 0.3
11203020 HERRBAEZEER (K. @X®3BIH) Eif 3.1
11203030 # E A B & Foo—  J )L Bkt 23
11203040 7 L 3 el J N R Bkt 13.1
11204000 ¥k &% € EBE B B - # I & 120.6
11204010 7 )L =T = 9 L R B I & ke 16.9
11204020 i . i) & & i Y| kg 38.9
11204030 7 JU 2 = 9 Ls iz Y| kg 4.0
11204040 e A #h 2 ~ ke 60.8
11300000 & = &l i I E 905.8
11301000 £ % A & = 8l An 65.3
11301010 % & t 32.1
11301020 ¥ v & P) t 33.2
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11302000 2 &% H & B &l o 642.5

11302010 RKREFTEHBHRB7Z7ILIZ29 LYy t 177.0
11302020 E L B 7 L 2 = 9 L % v t 211.4
11302030 7 L = = ) Ls K 7 t 79.5
11302040 7 L 2 = %9 LT H R TF YT t 129.1
11302050 7 L 2 = 9 L #® B KN B B t 455
11303000 23 & B R sl o 119.1

11303010 E ¥ R 7 L 2 = 9 L #W & kg 99.5
11303020 g ¥ A 7 L =T = B L & kg 19.6
11304000 z ) it » & I sl o 78.9

11304010 =4 B3 kg 7.7
11304020 & B = & # F| ke 36.0
11304030 z 0O 1 0 B X B £ B & ke 35.2
11400000 S E =2 1 W E 1233.3

11401000 £ % $ii w 1 W 69.7

11401010 3 RN L % E H # W & 69.7
11402000 4 & B &#E E £ HBH # W 58.0

11402010 & = . ) &® 1 A=Y 58.0
11403000 3 B 12N 2] & Er3 B 436.4

11403010 ES EC 15N &l & % & BAHA 436.4
11404000 E ES == m} R ) ~ 85.1

11404010 E ES M m R Y N BEHE 85.1
11405000 o =E fn I ¥ W, 348.8

11405010 HE s t 67.4
11405020 ot Hil it t 23.9
11405030 oYY B REUE EMLLE T W t 22
11405040 o B I 1€ ® A % t 55.3
11405050 < 2 = v 7 + A %] t 63.1
11405060 # @B W @ -2 3 A4 X ## t 26
11405070 H B ®W @ mM T M I B t 140
11405080 0O b o £ B I % # W t 334
11405090 g Z R £ E m I # W t 46
11405100 1 W 7 L x t 82.3
11406000 % i 1 W, 130.5

11406010 #h & 1 W = 55.2
11406020 ;-3 fis 1 W, =1 56.9
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11407000 F O M o £ E B # W 104.8
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11511020 E i@ | kg 29
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11512000 e i ® B 75.4
11512010 3 v ~ R t 65.5
11512020 T L ~ — A t 9.9
11513000 A =< 53 i = = B aH 252.9
11513010 x F - L F T — vl kg 80.1
11513020 £ L] 2| TE 1134
11513030 Z 23 L] 2| FE 59.4
11520000 E 3 7% A -3 L T X 60.5
11521000 H Al 1 = 52.4
11521010 H 3 * — el & 52.4
11522000 2 — E 3 2] % S 8.1
11522010 =] ) AR 55 1 =1 6.1
11522020 ES 7% M Pin E 1 = 2.0
11600000 E F OB & F N 4 R I % 1401.6
11601000 B F EB o 1044.4
11601010 1K n #& BAH 170.0
11601020 & iE a N T A B FE 129.5
11601030 + 5 = v 4 a v F U H FE 0.7
11601040 72 4 L A2 - B & W &K FE 513.0
11601050 R 4 v F| FE 12.0
11601060 | * 9 2 FE 94.5
11601070 =z 4 Y F v 7 E5) b = 118.3
11601080 D 1) a v J T /\| FSqln. 6.4
11602000 B F B i3 169.7
11602010 ES) ¥ Bl % = | BAHA 48.3
11602020 BT F B’ = ® k| BAAH 121.4
11603000 E F T N 4 3 1875
11603010 e B & E F| FE 20.3
11603020 -3 & B ® BAHA 22.0
11603030 FO9T4TRERZ NI (b - /B HBAE 314
11603040 FHO9T 47 B E & /NI (KEB) AEFH 113.8
11700000 E K H % & 1§ # W I 575.4
11710000 B = 1 I I ¥ 3436
11711000 ] & £ = 1 3 56.8
11711010 - f% T v v v = B kvA 34.1
11711020 P M x — 3 = 3.1
11711030 IRz B BB (BR . OB/ E BB =) 19.6
11712000 &% B = 1 W 86.9
11712010 z 4 % £ E =1 22.5
11712020 S iz # p x 22 kVA 25.5
11712030 H E A |5 E =1 3.7
11712040 ay T Y Y (KB B F R FH) =) 3.4
11712050 7 — A = i =1 318
11713000 BH 3| il il =® B 173.8
11713010 B Fiz| i fid = = & 1] 65.0
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11713020 = ES =5 » &g ir =1 22.9
11713030 = 2 A o 3 i = 34.4
11713040 B i) il 180 % B =R 515
11714000 N ) fh ) S = 1 L1 26.1
11714010 B = B 7K S = 1.9
11714020 [ i = 8 F@E 7.0
11714030 ESxBEBHZFE(KR. 88 B R) F@E 13.0
11714040 & = & 25 & 42
11720000 & b B g 1 L T ¥ 2318
11721000 =5 ¥ H -1 1 8.4
11721010 AHBA-SvyFkrFLYYarvFE a— 4% H5FH 84
11722000 & ] Ui x = B 2234
11722010 ZAN B H {3 % E & 116.6
11722020 x = — =1 101.7
11722030 i x % E A 5.1
11800000 L] e HE L T ES 360.3
11801000 =] ) 3 3 ® 162.5
11801010 ¥ = A T — A 162.5
11802000 =] £ ) B o 75.3
11802010 -3 R B m| BAH 11.6
11802020 2 — ~ & 13.8
11802030 Rz 4 Y F B @A 49.9
11803000 E E S H [17] 1225
11803010 s 3 ~ L ~ > Y Vs =) 122.5
11900000 Ez % +r A # & I % 262.7
11901000 il > z . = Eo aH 51.1
11901010 =7 £ il > R m 395
11901020 8 El A > x m 11.6
11902000 + * v ~ =] Eo aH 67.9
11902010 + * v ~ t 26.8
11902020 | v 9 D — ~ 8 H t 411
11903000 M M 2z - R B & #® & 63.5
11903010 & B - B £ H B W 3F ke 35
11903020 il b 8 4 3 T wv Y T4 ) A kg 60.0
11904000 z 0O o 0o EB ¥ - X A # & 80.2
11904010 ES ) ) ) % = E-2] o t 20
11904020 it X n A yaN t 10.2
11904030 A & 2 Eie] B 1B t 64.2
11904040 i Hil & ra) t 3.8
12000000 1t =2 I ES 1540.5
12010000 it %= I ( B E ¥ & ) 222.3
12001000 1t =2 fE b2 50.5
12001010 7 v E = 7 t 29.7
12001020 ] i t 49
12001030 i) =} B # t 15.9
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12002000 = 1 it =2 I E 3 E] An 34.7
12002010 ] Lic Y — & t 5.9
12002020 15 * B R t 3.3
12002030 Y A i t 3.4
12002040 i it F 3 N t 7.3
12002050 i i t 32
12002060 il LS t 11.6
12003000 Vi > e F o] 9 95.9
12003010 A > = v 1 5 t 40
12003020 7 U ¥ N 1t 5 t 3.6
12003030 * 3 9 1) U 1 15 t 242
12003040 15 it E = U £ i t 14.1
12003050 AU 7 2K R B B R ® M OH t 49
12003060 K Yy T FLYTF LT AEL —F t 45.1
12004000 H [i:7] & i il 27.1
12004010 5 [E1] & 4 bl t 27.1
12005000 z ) fih )] 1 g o 141
12005010 aJ ¥ #l t 14.1
12006000 E E- 4 o 1318.2
12006010 = = o I =X I & kg 136.5
12006020 E -4 m| BAHE 1181.7
12100000 7 5 R F v 44 #@H B I % 578.6
12101000 TSRFUIEITIANLL-Y—F-EHERE 179.2
12101010 7 5 R F v oo & 7 4 L LA t 156.1
12101020 7 3 R F v 44 #H L — F t 5.3
12101030 = D ® =) t 17.8
12102000 7 S R F oy 4y 8 Kk - B M O 316
12102010 7 > x F Y 9 &l i t 7.7
12102020 J 3 R F oy 4y & B M t 23.9
12103000 I £ B 7 3 A F v 4 @& & 102.8
12103010 TSR F oy B OB W B E N R t 102.8
12104000 % 88 - % 1 7T 73R F oy o HE 30.7
12104010 ¥ @& J 5 R F v 4H #@H & t 15.3
12104020 wm ot J 35 R F v o4 o#H O H t 15.4
12105000 TS RFyvOEBRAHEEE-BEBRE 154.8
12105010 7SR F vy E BRAG B E t 106.7
12105020 7 5 R F v b #H B’ B t 48.1
12106000 0O M o T3 R F oy oy HEE 79.5
12106010 TSR Fy o HERABEEH AR t 36.0
12106020 J 3 R F oy 4y #H K — X t 435
12200000 AU ) #K #® M oI S I ¥ 267.4
12201000 N % 7 29.8
12201010 &l i A L 7 t 29.8
12202000 s 85.8
12202010 b3 & # B K t 24.4
12202020 El3 b T = il A #E t 20.7
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12202030 5 T En Rl A K t 21.9
12202040 & ] A K t 22
12202050 =2 =® A i t 16.6
12203000 R HE 105.3
12203010 E% R — L R K t 83.8
12203020 K E A R #E t 9.8
12203030 P i i t 11.7
12204000 #E fn I o 46.5
12204010 E% 7N — L < - N Fmi 20.8
12204020 X A A #E ) i 2| FHK 25.7
12300000 % i I E S 579.9
12301000 % i 118.4
12301010 B H$ 3 =) 5 ik i t 66.8
12301020 + A m| N £ i i t 17.6
12301030 A Yy T R F L O E O # # t 29.3
12301040 ¥ & % t 47
12302000 & ) 227.0
12302010 A #8 7 t F — b~ #B 9 m 57.6
12302020 +F 4 o v £ W # & W9 m 30.6
12302030 KA U T X F LR M OB D m 106.2
12302040 z O o o Kk M # #H W m 26.4
12302050 AU I R T O OE M OB D m 6.2
12303000 3 ! %& i 157.2
12303010 7 Y| # =) B B Fm 100.7
12303020 - v + & # % & B B Im 56.5
12304000 = Y [ & #h 19.2
12304010 = Y ~ & H#h ke 19.2
12305000 x L] 18.7
12305010 = Y [ i P4 ~ 8.9
12305020 Ty B TEHE-HEEFE-EAEHE A 3.9
12305030 = Y [ i & T ) 3.1
12305040 & Y| 2 ik i 2 h = 2.8
12306000 z ) o 0] ik i ] 8 aH 39.4
12306010 ¥ &k | ke 114
12306020 bz b Rz i W ke 3.0
12306030 & 159 ik i W ke 0.5
12306040 i = & ¥ ke 18.9
12306050 L — R & #h m 5.6
12400000 B o i T ES 578.2
12401000 & E 7K 3 B 4 Hn 172.3
12401010 5] -} 5 kg 90.6
12401020 /4 3| & 2L ki 15.1
12401030 7 4 x 9 1) — A kl 118
12401040 7K = i ] h ke 54.8
12402000 R 173 4 18.8
12402010 173 14 t 13.8
12402020 2 JH ki 5.0
12403000 A v ¥ F 55.0
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12403010 B N N ke 5.4
12403020 B F B FH 21.9
12403030 * x kg 27.7
12404000 ) il ) B # o 194.3
12404010 I E3 # t 32
12404020 = & . i B FH 6.8
12404030 m & HE i} i t 127.6
12404040 ki x| FH 20.2
12404050 i3 = * R t 36.5
12405000 # 137.8
12405010 1 P -1 # 7K kl 82.0
12405020 = P ki 55.8
12500000 z 0] ik I E S 4340
12510000 En 7l E S 186.2
12510010 &E o R OB R OC F KR OED R ) BAHA 12.8
12510020 E R OER (A 7 € v b DR ) BAH 1734
12520000 z ) it ) & I ES 2478
12520010 & B y il = 17| v m 190.3
12520020 = N 7N — Al Fm 10.0
12520030 T ES =2 o L £ M| EHO LEt 241
12520040 = bt & W m° 23.4
13000000 $ii 0.4
13000010 I+ L a t 0.2
13000020 A 73 a t 0.1
13000030 I+ (A il t 0.1
20001000 I I %X ( k& E E & ) 8681.8
21001000 1 i I ¥ 4111.0
21002000 T AR - % ERB-%£F B #MIT % 1896.2
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JIALDFIBLLE

BEHI—2

XENE 20204 20154 =
ShIT% 10,000.0 10,000.0 0.0
AETE 9,999.6 9,998.9 0.7
E TS 228.9 205.2 23.7
EHERIE 512.6 331.9 180.7
EREMITE 905.8 806.1 99.7
AERMEMIE 1,233.3 1,184.9 48.4
NA-EBRAMHIE 540.4 419.2 121.2
FAMBIE 479.9 3775 102.4
EERARMIE 60.5 41.7 18.8
BFEH&GA-T/NARIE 1,401.6 1,527.3 A 1257
BX-FHRBEMBIE 575.4 499 1 76.3
BEIMIE 343.6 290.8 52.8
BB EHM I X 2318 208.3 23.5
BRI T3 360.3 458.8 A 985
EX-TRAERITE 262.7 306.2 A 435
kI % 1,540.5 1,401.9 138.6
TSRFYIBETE 578.6 452.0 126.6
INIVT R T ST 267.4 258.6 8.8
W TE 579.9 693.4 A 1135
BHAETE 578.2 597.2 A 190
DT 434.0 857.1 A 4231
ENRIZE 186.2 1725 13.7
TG T E 2478 684.6 A 4368
1/ 3 0.4 1.1 A 07
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1. F&

2020 FEE PRI TEEERRICE T AR, XEBEUYRB
@ X-12-ARIMA ZFRAWLVTERE L 1=,

EMARFRERT. SHERICHNAZ., ER - IRBER. 555F5ERIC&
STHRABINATL S,

BAEMIZCIIUTDEL Y,

FHHBFER = R — (FH - EB - 5K8 - 52 5FHER

2. X-12-RIMA [ZAWVBRRYT T 7Y
2020 ERERFEHICERALEARY I I7MILDRREIUTOES Y,

series { start = 2015.1

span = (2015.1, 2022.12)

decimals = 1}
transform { function = log }
arima {model = (012110 }
regression { variables = (tdinolpyear Ipyear)

save = (td hol)

user = (jap—hol)

usertype = holiday

start = 2015. 1

file = "XXXXXXXXXXXXXXXXXXXX "}
forecast { maxlead = 12 }
( mdl ) maxiter = 500 }
(none +d10 +d11 +d16)
(d10 d11 d16)
seasonalma=x11default }

estimate { save
x11 { print
save

3. EHEREOER
2023 £ 1 ALBOEHENE. TESHAEARERALTVSD, Bk
2%, 2022 FDEEHEHZERAL TS,
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SHISH L. BE - 0558 - 555 RN, TEARERLT. L2,
THEENITAS A= E 2028 % 1 ALBEOA LY I—MDHELTHAL
TW5%,

4. ERENE

2020 FEERETIE. ERENEBRHOERZEREL T, UTOEEE
WEZTo>TULVS,

e IEZE IR A 1238
EERER 20184 10 A TC
A ERER 200198 A LS
A ERER 202005 R TC
A ERER 2021 £ 10 A AO

TC: temporary change
LS: level shift
AO: additive outlier

15




150

140 4

130 A

120 4

110 A

100 4

HH 5
2020 25 24 3 B3 61 T 38 25 A HE AR

EHEOFIBEEF LR (FHARF)

a0
—_—20E R
= I 2015 EHEE
#2023 E1 B RIBEET
n A-——————————
201845 201945 202045 202146 2022 FF 2023 F
GE) LB D=8, 2015F E AR RIS, 20205 =100012HBELTULVS,
o 20205F B E(TH (T EIREEE OB (FHBHEE)

16





